Choose the right
Options

Completethefollowing passage choosing theright words from those given below.
Each blank is numbered and four choices are given. Choose the correct answer and
write A, B, Cor D in the blank.

(1) in Israel. He was youngest of his father's
(3). He spent (4) time looking (5) his father’s

1) A) lives B)isliving C) lived D) has living
2)A) a B) the C) an D) is

3) A) sun B) sons C) suns D) son

4) A) he B) him C) his D) of

5) A) about B) after C) at D) on

Mogan Das Karmachand Gandhi (1) young Indian lawyer was
(2) South Africa. One day he was travelling (3) Durban to
Pretoria (4) train. He was (5) a first class compartment.

1) A) an B) a C) the D) one
2) A)in B) at C)on D) of
3) A)in B) of C) from D) to
4) A) on B) by C)in D) off
5) A) at B) on C) for D) in

Lakshmi Bai was born at Kasi (1) the 19" of November. She

(2) acommon man’s daughter (3) achild. She was called
Manikarnika (4) mother dies when (5) four years old.

1) A)in B) of C)on D) at
2) A)is B) was C) are D) has
3) A) As B) what C) for D) a
4) A) her B) she C) her D) his
5) A) they B) he C) she D) I

(1) morning. The little girl still sat there (2) a smile
on her lips. The little girl looked (3). She saw anumber
(4) bright stars. One of them fell (5) the sky.

1) A) was B) is C) has D) a
2) A) on B) for C) from D) with
3) A) at B) up C)in D) for
4) A)in B) of C) at D) all
B) from C)to D) for

(1) climbed abroad the Lucknow express. We
(2) moving from Dehradun (3) Lucknow. Grand Mother




took her parrot with
tiger with him.

1) A) one B) all C)on D) were

2) A) are B) were C) have D) so

3) A) for B) about C)to D) of

4) A) her B) she C) her D) he

5) A) take B) takes C) took D) is taking

In an old apron. She held a lot (1) matches. No one
bought any matches (3) her that day. No one had given
(4) money. Hungry and cold she walked (5) the road.

1) A) out B) of C)on
2) A) has B) have C) had D) was
3) A) with B) for C) from D) in
4) A) his B) her C)to D) them
5) A) away B)among  C)along D) above
(1) sitting with his legs crossed
(3)huge wall. ................ (4) was such a narrow wall that
(5) afraid.
B) was C) is sitting D) was sitting
B) on C) of D) by
B) of C)a D) at
B) it C) he D) she
B) has C) was D) of
(1) king saul. He was ill (2) unhappy.
(3) his servants thought that goomusic might
him happy. ............ They took David to the king.

1) A) over B) by C) of D) at

2) A) and B) so C) but D) also

3) A) at B) of C) but D) to

4) A) made B) was made C) make D) is making
5) A) but B) so C) till D) also.

Rip van winkle was a good natured man

(2) with the children of the village and helped
friends. ................. (4) he was a busy man, he never did
useful work.

1) A) so B) and C) but D) of

2) A) plays B) playing C) played D) is playing
3) A) he B) his C) him D) their

4) A) so B) but C)to D) also
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5) A) some B) little C) any D) at all

Abraham Lincoln was (1) President of United States of America.

(2) a great president. He was (3) a very kind man.

Here is a story (4) Lincoln which tells us about his greatness
(5) his kindness.

1)A)a B) the C) one D) am

2) A) has B) is C) was D) were
3) A) but B) is C) also D) unless
4) A) of B) about C)to D) off

5) A) also B) upto C) over D) and

An English businessman was on a trip to Malaysia. ............. (1) decidedto
take a few days off and (2) something of the country

he hired a car to drive (4) Singapore (5) Kotabharrua
trip of around 600 kilometres.

1)A)I B) he C) she D) you

2) A) see B) saw C) will see D) has seen
3) A) so B) because C)though D) but

4) A) from B) for C)to D) at

5) A) to B) on C) into D) along

Bassanio was (1) love (2) ayoung lady Portia. She was a
beautiful young lady (3) lived (4) Belmont a little away
(5) Venice.

B) in C) by D) for
2) A) for B) on C) with D) to
3) A) who B) which C) where D) why
4) A)in B) on C) by D) from
5) A) from C) for D) by
My eldest son (1) is living in America (2) a doctor. His
wife is also a doctor (3) in the same hospital. They

two children they (5) living in America for two years.
1) A) who B) which C) when D) why

2) A) are B) were C)is D) has

3) A) work B) working C)worked D) had worked

4) A) has B) are C) were D) have
5) A) have been B) has C) had D) were

In India, tennis is a game (1) the rich. It is difficult
ordinary person (3) play tennis. Here Rackets (4) a great
deal and there are not enough tennis (5) to practise on.

1) A) for B) to C) by D) with
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2) A) to B) for C) with D) by

3) A)in B) by C) for D) to

4) A) cost B) costing  C) costs D) are costing
5) A) grounds B) places C) courts D) players

Our cricket team left (1) England. It was given a warm send off

(2) the airport (3) cricket lovers. The captain... ............ (4)
team said that he had confidence (5) his team to win all the
matches.

1) A) to B) for C) by D) with
2) A) at B) to C)on D) with
3) A) to B) by C)on D) with
4) A) of B) to C) for D) in
5) A) of B) to C) for D) on




